)
NEHE

]
=(03.0 Zr=df
=t BEf
SRIo|HZ AbER R =2
EISEIES e utey
- — o
= AT EoHAES
ARoas | ERas
i 2220 x| (625kcal)
(627kcal) Ao
Al
aa el e
AlCk L=z - OFRH| A 2H
BZEE|ES Ol /=
HALIEZZ 22| =
PAPAPS| i = OkARY 2 &
i 22 A - =71%|
I:l,AII:II-KHA_E Hf =2
MESIPY (622kcal)
|
(619kcal) 2u|A
- 2| b}
g3 £(03.09)
07) =
=(083. DML 2to| =l &H=2
= %:(03.06) inpis 420188
o 3.09 T8 sy e es | Thans
= =2 o
ZHA] T 2H03. Ezy o| &= A2|HHES SHA &0l RS
21(03. - -~
7 =0 B34t Hete FJEIEES ZEALHE £20|x|
3y 223 e mre | s SFLLE o245
| = = =4 x| _ -
ol S AAE = ER R e 2 tf 24 %) (623kcal)
= 5 = oo % =
Ui ESES A@ 38 0| FLE2E b =2 %] (626kcal) o
- _ _ =
= gusa PSS Hj 21 (627kcal) S, 5jei=
- MEX = 7| % H—e =
Al CRhCEE o 2| (626kcal) X AR ER=E=EIES=
i =2 x| (625kcal) ' = me} — e 2l
okcal a3y FEA R <381 ax=d
| = o =
(62 Th=2df N _ TACEx 2] ik”x|0|:7<|‘|%‘:' EELIE
g=Y A S 2x|81x2 oMl M2 P th 24|
&etaolod=s njESxy AR =S =2 £ i =2 %] (623kcal)
2| - %l AH % = X
JIXto| =gl I?E:Ud%%:l ZH O FRH A 1Y ol =2 X (620kcal) ZmA
x| = AR LY RY HMAEZELIE ol =2 % (624kcal) S| EXRIZEA x3ojsal
= 2 X|LE =2Z21x| 2kcal) AR EXS =30r=
Ak AFE| i =24 (62 B} e )
Bl =2 %| (623kcal) oo o ) E(03.16
TT——
(624kcal) e 3== =(03.15 Ttz
tor fiHS = - 2(03.14) oy ol E1xH=
s | xsizie Zoju| S8 +(03.13) - A= gzol=d
o BN 12) A =t Uxlgue= ik
4 — = = =
ZHA - ) =H03. ot oA Zto| =l &k= SEf =8 E05=H
2(03.11 Zat 2 o= sirl=ekz) = s
TE = &= HEX|2HR =Sl ojL &2t Al = oleiE7EIRS
- _ =2 = 7| X
ot 74IEJE<:>*EO 7ol E‘#’E'j'n 22 3MERZER 70l y B 2 %]
SE| = S0 g mEHES e T E PN = s =F& (625kcal)
— — [N = =] =
ZLEE17] | =EEA I A Zo|LtE PN AR B =2 %]
o =] (=N = = = %
ot I il Il oh 2 =2 (627kcal) e
- MEX = 7| % -
NI BN X = ﬂ) (623kcal) (624kcal) zagt ;Iﬂa“g
=i EIPS cal = = =2
e (625 M3y 277|232 il
— — =2
(626ko e sotuRE ~38 202 AENEPEESS
| Aot ot o o1 =
2yt 2oEEs eSS P e SFLLE
=1 _ _ — _ =
T ojef= o Fa| YT OFRH 20| LuZ 7| Hj 2 %]
o * -
2oto|Sg =2 2EHS RS aueey o2 A (623kcal)
M2 x| =2 c | olszoxzs 0jod xR Bl 220 | (620kcal) TP
— x = X —'__
ROoAAE = HERY i = 24| (624kcal) errrm ol
_ _ _ —_— _I_
T zlzoy Bl =24 %] (622kcal) TS ol =
=271x%| kcal) = . °°
HHT;aI) (623 HEzazez S A
(624ke HElA =T HHdxS2
= WA=t of| o] A3pX}
2= = = A
;M At A
(Sl |




21(03.18) 3H03.19) %(03.20) 2(03.21) =(03.22) E(03.23)
=Y RXFOod} P =Y =Y RXFod} RO d}|
H - H - HH H - H - H e
LEAUX= ojed= SR = A2 HEX|2to| o= TR = A=
— WSS HEx =2 2R A e S A=) A g
o e § = - — - - — ] —
Ay | =2IBOKHFES SHALZHY SHoOREE S el QUMEEE MM TEA
e SFULE HELIS MY HExZH0| BT QA EMEE o x2 3 A 2 A 7Y
B =2 x| b =2! x| B =2 x| B =2 x| b =2! X| B =2 X|
(623kcal) (623kcal) (623kcal) (623kcal) (627kcal) (625kcal)
RFad} Rtad} AFad} RFad} Rtad} AFad}
H - H - H A H - H - H e
Btef =2 ZtRpetmt= Atz N ==y el = =y
X =R REES =SoklES HlolLto e S A3# 0| SEf=E A2 IO ES
Ei ’ . . _
alcp | BB =F =0 ES=xg Af&o| 2ok =gl B oMo B 2 FTHIHMES PAYNESE=
= =1 = - = -
= FLE DAL E7 K| CHA|ofE 2t HAMZEEO| o|EF2Z =SS
B =2 x| b =2 x| B =2 x| Ll E=AbN b =2 x| B =2 X|
(617kcal) (617kcal) (617kcal) (617kcal) (619kcal) (618kcal)
e Hi S 2 A3 Lo FA UYNSE HH 2t EEFA
Z2HAl ZIAIIAH 2} ® 7o} Al 272 HE x| =72
T2 21(03.25) =}(03.26) %(03.27) £(03.28) =(03.29) E(03.30)
RO d} Rtad} Ao d} RO d} REad} RFOod}
H A H e H A H A H e H e
el = 7| 2HES HiX|E2tR = A Zto| =l &= 2LE= 2O E A=
_— HNSFEx|7| HEXZ X =2 W2t EURREES Aciz| =g S e Fd PN =
[= =] = = = —
AlCt oE5=g ADIHES TEZSFE E0HFEZ oHZXE 2 o|EATHAE|
e QP 2= 4 A EF TARR|LE Azto|LtE SRR X2 E s =& UALZMB =
B =2 % b =2 x| B =2 x| B =2 X| b =2 x| B =2 X|
(626kcal) (625kcal) (623kcal) (624kcal) (627kcal) (625kcal)
RO d} RO d} RO d} RO d} RO d} RXtod}l
H e H e H e H e H e H e
Al o5& AlSEE EEAMEFERT AD7|2=2 H 2HES
HEsSY =217 HFelYa=g FRbo| =& H 2t ESFEX[7|
ZotMo|MeE | OlsEEHR =8 O M HAES OHA & =2l MEolHMES
HELE A 22X FEEA oY E7|8S = Fo|Lz| 23 Q0| T ZET| e A
i =2 x| b =2 X| B =2 X i =2 x| b =2 x| B =2 K|
(624kcal) (623Kkcal) (622kcal) (624kcal) (620kcal) (623kcal)
OFRff =~ U3t W ZERE HEch WA 2t Azl
2dY T LR ERS T A Aot 2 RA AEFA
AlCtE = AlA 2 AKX =2 AFY| w2 HE E 4= A S




